The encoded waveform in the time domain

FCC ID : OHELMO4001?
Model : SBLM04Q01

Mode of EUT : Transmit

REF 31.6mV CENTER 315.000MHz  SPAN QOkHz
RES BW 3000.0kHz VBW 100 .0kHz SWP 100 .0msec
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The above waveform indicates the case when field stength
averaged over 100 milliseconds was maximum value.
In order to obtain the peak to average factor, calculation
of the pericd of total on-time was computed by personal
computer. Results was obtaind by following.

Duty cycle = [Maximum total on-time / 100 msec) x 100
(16.3 msec / 100 msec) x 100 = 16.3 %

Therefore
Factor is 20lcg (0.1630) = -15.8 dB



